(* Odstrani element iz iskalnega drevesa *)

X
let rec remove x = function ( j ! ~S
| Empty -> Empty / Q EW?LJ
| Nod 1 -
ge;igy’ S Z£> {ri @
match cmp x y with /

| Less -> Node (y, remove x 1, r)

| Greater -> Node (y, 1, remove x r) &
| Equal ->
begin match (1, r) with
o | (Empty, Empty) -> Empty

O
b | (Empty, ) ->r Y
c | (., Empty) -> 1 0-x Y
dl (—) —) ->

let rec split = function . .-
it | Empty -> failwith "impossible" Stmebritnd
i‘.-l Node (y) 1: Empty) -> (13 )’)
u;'l Node (Cy, 1, r) -> . x:j
let (r', z) = split r in
(Node (y, 1, r'), 2)

@ let foo=
et (1', y') = split 1 in

Node (y', 1', r) "/ l:ﬂ
end ‘1 .
end
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fun f -> (fun x -> f (f X))
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